
29/11/23 MATH 2050 ATutorial

Announcements :

HWG due 11/12
· Final Exam 12/12

Real Def : AER
, f:A-R . Then fis uniformly its on Aif FECO , Ef=f(2) <O sit

for X,UEA if (x-u/<8, then If(x) -flu) < 2

Nonuniform Cty: TFAE :

1) Fis not uniformlycts onA
2)13030 s .t . F830 and Xy , UgEA sit . Mo-UgK 8, and If(x) -flus)/520.
3) EE0XO and sequences (Xu) , (un) in A s .t. Mimio (xn-un) = 0 and
If(xn) - fluu)k,90. forall neN .

: Let I bea closed and bonded internal and let fil+R be continuous on t
.
Ten

f is unfouly Its onI .





22 : Let AER and f :A-R satisfy : Fast , EggAtR sit. ga is unifuly
&otsen A and If(x)-gz(x))<Efor all XEA .

Show that fis unforly
Its onA .

P : let 230
.
X
, yeA . Ege : ASR st Hf(x)-ge()) <

13 ↳

· Ifly) -galy)
· ESsit . if (x-y1z8, 19a() -galy) :

So ig (x-y/<8 ,
then

If(x) - fly)) < If(x)- ge(x)) + (gz(x) - g(y)) +/gz(y) - f(y))↳3

< + z + = =/








